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Trig ldentities Review ' Name

Choose 3 of the following identities in each section and verify. Choose any additional
problem from any level. You should complete a total of 10 problems. Show all work.

level 1
1. c¢scOcos@ = cotf 2. (secf — 1)(secf + 1) = tan?p
3. tangcote — cos?p = sin*@ 4. cos?6(1 +tan®8) =1
5. 3sin? + 4cos?x = 3 + cos’x 6. (seca + tana)(seca — tana) =1
Level 2
, 2 , 2 cos?x ,
7. (sinf + c0s0)* + (sinf — cosf)* =2 8 1—-——=sinx
1+stnx
. 1+ﬂ:mg = Lot 10, =2 4 L tanx
1-sind csc8—1 . csCx  COSX
11, 1 -2 _ cosx 12. sinu(cotu + tany) = sec
’ 1+cosx ' ’ H K H) = ®
Level 3
13, tana + cota — secacsca = 0 "14. secBoesch sinf — cosf
‘ sectcscd
15. tanx = sinxsecx 16. tan®acos*a + cot?asina =1
[ _ 2
. ca.sl‘x 1+sinx = 2secx . (seco—tano)?+1 — Ytang
1+sinx €osx csco(seco—tandg)
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Trig Identities Review Name

Solve each equation in the interval [0, 2rr). Show all work. Circle the answers.

1. 2sinx—1=0 2 Esecx—1=0

3. 3tan®x = tanx : 4. 2sin’x +3sinx+1=0
5.¢c5cx—2=0 6. cscx + cotx = 1

7. (3 tan’*x — D(tan®x—-3) =0 8. secx ¢scx = 2¢5cx

Find the value using the sum, difference, or double angle identities.

9. sinu= —'g, T<u <§2£,find cosZu.
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Use the sum, difference, or double angle identities to find the following values.

12. cos 105°.

13. sin 195°.

14. cos 255°,

15. sin 285°.




